
S
PA

R
E

 P
A

R
T

S
 M

U
S

IC
 S

TA
N

D
S

10050.000.01 nickel

SM
100/5

100/5 Music Stand

-1/07-

pos. description art.-no. qty 

1 leg cap 01.94.590.55 3
2 tapping screw with counter sunk head 03.02.655.25 1
3 locking screw M6 x 14 mm 01.83.050.55 1
4 locking nut M6 03.08.305.00 1
5 plastic locking spacer R 8 01.86.635.55 1
6 knurled knob M6 x 16 mm 01.82.834.55 2
7 plastic locking spacer R 6 01.86.620.55 1
8 plastic locking spacer R 3,5 01.86.610.55 1
9 bushing 01.85.470.00 1

10 swivel connector 02.41.980.55 1
11 washer ø 5,3 mm 03.11.310.29 1
12 locking knob big M5 01.93.250.55 1
13 carriage bolt M5 x 30 mm 03.07.150.01 1
14 desk complete 6.10050.1.01 1
15 rivet 03.62.510.29 2

1

2

3

4

5

7

8
9
10
11

12

13

14

15

6

6



S
PA

R
E

 P
A

R
T

S
 M

U
S

IC
 S

TA
N

D
S

10050.000.55 black

SM
100/5

100/5 Music Stand

-1/07-

pos. description art.-no. qty 

1 leg cap 01.94.590.55 3
2 tapping screw with counter sunk head 03.02.655.25 1
3 locking screw M6 x 14 mm 01.83.050.55 1
4 locking nut M6 03.08.305.00 1
5 plastic locking spacer R 8 01.86.635.55 1
6 knurled knob M6 x 16 mm 01.82.834.55 2
7 plastic locking spacer R 6 01.86.620.55 1
8 plastic locking spacer R 3,5 01.86.610.55 1
9 bushing 01.85.470.00 1

10 swivel connector 02.41.980.55 1
11 washer ø 5,3 mm 03.11.310.29 1
12 locking knob big M5 01.93.250.55 1
13 carriage bolt M5 x 30 mm 03.07.150.01 1
14 desk complete 6.10050.1.55 1
15 rivet 03.62.510.29 2

1

2

3

4

5

7

8
9
10
11

12

13

14

15

6

6


